G rxs 0GA. QGB EFIS

FANGDA

il

—. R

Lo RO walfhargh, Eremhi. At wEERH .

2, BLfREE K, ®32~d400, TREERICHMER, &
] i AL W B AT R U EL.

3. @iLfEd32~D 100 GLAYET R s b BLA B &, BLE AR
FLEF 08 T B e S Ah A R RS . B9 125~ D400 il
[ 0 o LD Bk, IR A P AL EERE R S EAE R .

4, AR AR AR S, LSRR .

=. B®Fs R

| —A

1 1 || 1
i L 2 S L
=. %S
Qo [ =01 Lx =11
L
A, AI-EErp: B, BLE SECATEE (mm)
Ak A FELELTE (mm)
i —iFH A FQ) —ArE=A
EZ —gH Head Z — et
Es —AEHA 77 — E R e o,
BSZ —A2H W I — A5
F o —EiE2d X — e

m. EEHRKSH

L—& A 8
Lo— 1 o4, 3 %
Ly— ¥ it

L 3 e g
Le— S Ff g 1

i QGA QGE QGAI QGBI
GLfE (mm) 32 iy 5TW 63 A0 100 125 160 200 400 250 320
fe JATHE (mm) R0 800 1000 2000
THEED (bar) 1.5~8
itH }) (bar) 12
R EE S (°C ) -25~+80 ({H{EA Rl &4 F )
T {4+ i #o0d Fvk S % M H a2 T
. IMEEREERST
1. MRS L L+8§
g Li+3 . la
QGA. QGAI &4 B
B
e |
el _a o]
m s =
] L




= ARSH GOA. QGB RFSKE

F X
FAMGDA
QGB. QGBI £ 4
e i
___a'l 1 J B
® e !
o Tt G| @
b L et i
° o T &' |
bl
L mm
5 d d d dol ol L E N B E Lisd ol e Bl ) B | oD
QGA 325 | 10 |ML0 IDES! 13 |8 |122| 73|53 8 |33|15|45|3x]|8) /]| / | oM
Q6B 325 | 10 [M10 IDES! 13| |122) 73| 53| 8 [31|15|45|35| 8] /| / | 02
QGA 40> S | 16 [M12x1. 25| M0 1 13|M6 |150) 95 | 75| 8 [38| 25|65 40|14 5 | @30 @30
QGB 40xS | 16 [M12x 1. 25| M10% 1 13|M6 |177|115] 85| 8 (40| 25|55 | 40|14 5 | ®30| @30
QGA 50X S | 16 [M12x 1. 25| M0 13|M6 |150) 95 | 75| 8 (38|25 |64 | 50|14 5 | @30| @30
AGB 50X S | 16 [M12x 1. 25| M0 1 13 |M6 |177)115] 85| 8 [40| 25|64 |50 14] 5 | @30| @30
QGA 63xS | 20 |MI6x1.5 [M2x1.25] 16 M8 |190|130|105| 8 [45 (30| 80|60 |17 &5 | @39 | ©38
Q6B 63% S | 20 |MI6x1.5 [M2x1.25| 16 M8 [205)|135|105| 8 [45 (30| 80|60 |17 5 | ®39| ®39
QGA 80x S| 20 |MI6x1.5 [M6x1.5 | 20 [M8 |190]130|102| 8 [45 (30| 95| 75|17 5 | @39 | @39
Q6B 80X S | 20 |MI6x1.5 [M6x1.5 | 20 M8 [205 )| 1351045 8 [45 (30| 95| 75|17 5 | @39 | ©39
QGA 100X5| 25 |M20x1.5 [M6>1.5 | 20 |[M10 | 203 | 135 | 107 [22.5 58 [ 35 |115| 90 [ 22 | 5 | ®@52 | @40
QGB 100X5| 25 |M20% 1.5 [M16x1.5 | 20 |M10 243 | 145|112 |22.5/ 58 [ 35 |115) 90|22 | 5 | @52 | @45
QGA 125X 5| 32 |M27x2  |M20x1.5 | 24 |M12 | 220 | 145 | 107 |27.5| 65 | 40 |150|120( 27| 6 | ®90 | ®68
Q6B 125X5| 32 |M27x2  |M20x1.5 | 24 |M12 | 250 | 145 | 107 |27.5| 65 | 40 | 150|120 27| 6 | ®90 | ®90
QGA 160%S| 40 [M33x2  |M27x2 32 |M6 | 275 190 | 150 |37.5| 75 | 50 | 190 150| 36 | & |[®100| @78
QGB 160x S| 40 [M33x2 |M2Tx2 32 |Mi6 | 310 190 ] 150 |37.5] 67 | 50 | 190]150| 36 | 8 |®100|® 100
QGA 200 5| 40 | M35 H27 %2 32 |M20 | 285 | 200|150 |37.5| 75 | 60 |230]180| 36| /| / | @78
Q6B 200 5| 40 | M35 H27 %2 32 |M20 | 323|200 150 [37.5] 75 | 60 | 230180 36| /| / |®100
QGAIZE0X S| 63 |M42x2  |M33x2 |35.4|M24 | 386194 | 140| 50 [154| 84 |280|230( 55| / | / [®126
QGBIZB0X S| 63 |M42x2  |M33x2 |35.4|M24 | 386 194 | 140] 50 [ 154 84 280|230 65| / | / [®126
QGAI320 %S| 80 |M48x2  |M33x2 |35.4|M30 | 430 | 208 | 154 ) 60 {176 96 |350f290({ 75| /| / [®144
QGBI320% S| 80 |M48x2  |M33x2  |35.4|M30 | 430 | 208|154 | 60 [176| 96 |350|290( 75| / | / |[@144
QGA 400x5| 90 |MBEx4 |22 16 |M36 | 434 | 260|195 60 |120| 70 (430|350({ 80| /| / [®180
QGB 400x5| 90 |MB6x4  |M42x2 16 |M36 | 434 | 260 | 195 60 | 120 70 |430|350| 80| /| / |®180

A Mbaeb | = by
2. iy W { tid




= Hxs

PR

0GA. QGB R %S4

i 1, T | T S i £ fl
e Ha S El (ES &)




= x5 QGA. QGB B %S 4I

F X
ARG,

i) d d d; AR BENERETI AN
QGA32 M10 M5 M10 x| 10 | 6 | 6 [120] 40 [ 8 |97 ] 8 | 8
QGB 32 M10 M5 M10 1 10 | 6 | 6 [131] 40 [ 8 |99 ] 8 [10
QGA4 MI2%125 | M6 M10 x| 15 | 7 1 9 [1s7] 45 [0 |14]12 |5
QGB 40 MI2X125 | M6 M10 X1 15 | 7 1 9 [182] 45 {10 |14 ] 12 (10
QGAS0 MI2x125 | M6 M10 %1 15 | 7 1 9 [1s57] 45 [0 J14]12 | s
QGB 50 MI2x125 | Ms M10 1 15 | 7 19 [182] 45 {10 |1.]12 |10
QGAG3 Mi6x15 | M8 | MI2x125 | 20 | 9 | 9 J205] 60 | 12 f159 [ 14 | 1
QGB 63 MI6X15 | M3 | MI2x135 | 20 | 9 [ 9 |220] 60 | 12 | 174 | 14 | 1l
QGAS0 MI6x15 | M8 | MI6x1S5 | 20 | 9 | 9 J205] 60 [ 12 [159 [ 14 | 1
QGB 80 Mi6x15 | M8 | MI6xX15 | 20 [ 9 [ 9 |220] 60 | 12 | 174 | 14 | 11
QGA100 | M20x15 | M0 | MI6x1S5 | 25 [ 11 [ 11 | 225 ] 80 | 15 | 161 | 16
QGB100 [ M20X15 | MI0 | MI6X15 | 25 [ 11 f 11 | 265] 80 | 15 {201 | 16 [ 24
QGA125 M27X2 | Mi2 | M20X15 | 25 | 13 | 11 | 255 100 ] 20 | 171 [ 16
QGB 125 M27x2 | Mi2 | M20x15 | 25 [ 13 [ 11 | 285 100 ] 20 J201 [ 16 | 24
QGA 160 M33x2 | MI6 M27x2 | 30 | 17 | 17 [ 320 | 120 | 20 | 220 | 20
QGB 160 M33%2 | MI6 M27X2 |30 [ 17 | 17 [353]120] 20 |23 ]| 20 | 33
QGA200 M36 M20 MiTxg |38 ) 22 | 32 285 | 75 ] 35 | 238 | .25
QGB 200 M36 M20 Mixx® |35 )23 | 3 Iy )l s | s )in|los |8
QGAI250 | M42x2 | M24 | M33X2 | 40 [ 26 | 26 | 305] 73 ] 28 260 [ 28 | 10
QGBI2S0 [ M42x2 | M24 | M33x2 | 40 | 26 [ 26 | 305 ) 73 | 28 [ 260 [ 28 | 10
QGAI320 | M48x2 | M30 M33x2 | 45 | 33 | 32 [340 | 86 | 36 | 290 | 36 | 10
QGBI320 | M48x2 | M30 M33x2 | 45 |33 | 32 [340 | 86 | 36 | 290 | 36 | 10
QG A 400 Ms6x4 | M36 M42x2 | 60 | 39 | 39 [424 | 110 | 40 [ 354 | 40 | 14
QGB 400 Ms6x4 | M36 M42x2 | 60 | 39 | 39 [424 | 110 ] 40 | 354 | 40 | 14

o e (B R R e T D I el T T T
QGA32 45 1225135 | 45| 5 | 35 |45 | 8 | 45 |35 |70 |8 |35 [12]2]|4
QCEdy |aveslas a3 | 5l as Qs Jay o g iag ey | g | o oA
QGA40 85 | 15 |25 | 40 | 7 | 4 |60 | 10 ] 55 )40 |70 |8 |40 [12]3 |4
QGB40 |85 | 15 |25 | 40 | 7 | 4 |60 [1o |55 |40 {70 [8 |40 |12]3]4
QGAS0 85 | 15 |25 | 40 ] 7 | 4 |60 | 10|64 ] 50|78 |9 |5s0[12]36]4a
QGBSO |85 |15 |25 | 40 | 7 | 4 |60 [10 |64 | 50 {78 )9 |50 12]3]45
QGA63 | 100 | 20 | 35 | 65 | 12 | 54 | 80 [ 13 | 80 | 60 100 [120f 60 [ 20 | 42 [ 60
QGB63 | 100 | 20 |35 | 65 | 12 | 54 | 80 |13 | 80 | 60 {100 [120f 60 | 20 | 42 | 60
QGAg0 | 100 ] 20 |35 | 65 | 12 | 54 | 80 [ 13 | 95 | 75 [usf135) 75 [ 20 | £ |60
QGB80 | 100 |20 |35 |65 |12 |54 |80 [13 |95 |75 [us i35} 75|20 |46
QGAl00 | 125 ] 25 | 56 | 80 | 12 | 70 100 | 16 115 | 90 [ 140 [165) 90 | 25 | 54 | 80
QGB100 | 125|125 | 56 | 80 | 12 | 70 | 100 [ 16 115 | 90 [ 140 [165f 90 | 25 | 54 [ 80
QGA125 | 125 ] 25 | 56 | 80 | 12 | 70 | 100 [ 16 | 150 | 120 {180 [ 215 120 [ 25 | 56 | 80
QGB125 | 125 ] 25 | 56 | 80 | 12 | 70 | 100 [ 16 | 150 | 120 180 [ 215|120 [ 25 | 56 | 80
QGAL60 | 160 | 30 | 60 | 100 | 20 | 80 | 120 | 21 | 190 | 150 | 230 | 270 | 150 [ 30 | 72 | 110
QGB160 | 160 | 30 | 60 | 100 | 20 | 80 | 120 | 21 | 190 | 150 | 230 | 270 | 150 | 30 | 72 | 110
QGA200 | 230 | 35 | 180 | 230 | 25 | 180 | 230 | 25 | 230 | 180 | 270 | 320 | 180 | 50 { 100 | 160
QGB200 | 230 | 35 | 180 | 230 | 25 | 180 | 230 | 25 | 230 | 180 [ 270 [ 320 | 180 | S50 | 100 [ 160
QGAI250 | 280 | 40 | 140 | 190 | 25 | 230 | 280 | 28 | 280 | 230 [ 330 [ 395 | 165 | 110 | 200 | 190
QGBI2S0 | 280 | 40 | 140 | 190 | 25 | 230 | 280 | 28 | 280 | 230 | 330 [ 395 | 165 | 110 | 200 [ 190
QGAI320 | 350 | 45 | 160 | 230 | 35 | 290 | 350 | 36 | 350 | 290 [ 410 [ 475 | 200 | 120 | 220 [ 230
QGBI320 | 350 | 45 | 160 | 230 | 35 | 290 | 350 | 36 | 350 | 290 | 410 | 475 | 200 | 120 | 220 | 230
QGA400 | 430 | 60 | 180 | 260 | 40 | 350 | 430 | 40 | 430 | 350 | 500 | 570 | 350 | 120 | 220 | 270
QGB400 | 480 | 60 | 180 | 260 | 40 | 350 | 430 | 40 | 430 | 350 | 500 | 570 | 350 | 120 f 220 { 270




" XS qea 0eB RIS

B
Br La+§/2
.—r-. I -—
& [ A = | — | -
- o ! N4 ]
B2 - | |
Bs CLI ;
" dls
L1
B B
5 k. S o B
= g 1
* : 1-'1'5,_||J
o T—ham =
46 lP =
. _:m:_ i qi]_
I ™ | | |
Ls+§ - |
= Bs ]
" ol | - B -
MBI (T B Hh Tl s e UL (ZZ )
LiF s mm
Al 41 d d; dy  |ds|dyfds|de|L|Li|Lo|La| Ly | B [By|By|BafByfBs|Bs|By| H|H
QGA3S2 M0 M5S)] MIOXT [30]15)6 |6 | 8934|118 36| 855145 |35 |60 90 |35|106]126) 50 | 40 | 40
QGRE 32 10 MS| MIOX]1 |30115) 6 |6 |91l |34 |118]36) 855145 35160190 35]106]126]1 50 | 40 | 40
QGAAD IMI2X 125 M6 | MLOXT 25150 7 | 7 |112| 34 [155]43|102.5) 55 | 40 | 63| 93 |36 107 127] 50 | 45 | 40
QGBA0 IMI2X 1. 25| M6 | MIOXT |25 157 |7 P3N 34 |175] 63 |1195) 55 140 | 6393 |36107]127] 50 | 45 40
QGASD [MI2X 125 M6 | MILOXT 2515 7 | 7 |112| 34 [155]43|102.5) 64 | 50 | 72110250116 136 50 | 45 | 45
QGBS0 IMI2X 1 25| Ma | MIOXT 2515 F |7 137 34 |175] 63 |119.5) 64 | 50 | 72 1102| 50| 116]136] 50 | 45 | 45
QGAGS | MISX]1S [ M8 |MIZ2X1.25|35(20| 9 | 9 [145] 35(210]62) 125 | 80 | 60 | &5 | 135| 60129155 60 | 60 | 55
QGB 63 | MIG>X15 | M3 [IMI2X125135120] 9 | 9 [160] 35 §215]671375] 80 | 60 | 8513560 |129]1155] 60 | 60 | 55
QGASD | MISX]IS [ ME | MISX1IS5 3520 9 | 9 [145] 35 210]62) 125 | 95 | 75 105|155 751491175 60 | 60 | 65

QGB B0 | MI6>15 | MEB|MI6>X1.5|35]201 9 |9 |160] 35 |215)67|1375] 95 | 75 |105]155]|75]149]175] 60 | 60 | 65

QGATO0| M20 X155 [MIO| M161.5 [50 |25 11|11 |145] 44 |225] 61 [1255 115 90 [135) 19590 |189]215] 80 | &0 | 75

QGE 100 M20X1.5 IM10] M16>1.5 |50 25| 11 | 11 |185] 44 |235] 71 [170.5) 115 90 [135]195]|90|189]215] 80 | 80 | 75

QGAITZ5| MITXZ [MIZIM20X15 (60|25 11|13 )155] 44 |245] 61 {147 5150 (120 (169]229[1201225]1245] 30 |100| 96

QGB 125] MI7X2 |MI12) M20>15 60|25 11|13 |185] 44 |245] 61 |1775}150f120]1169]229]120]1223]1249] 30 |100] 96

QGAITA0| M33X2 |MIl6| M27X2 |60 |30 17 17)200) 65|320) 80| 180 {190 (150 |220) 300 (1501284314 ]100)120f 120

QGE 160 M33X2 [M16] M27X2 [60|30|17)17)243| 65|320] 80| 215 {190 (150 (220]300(150]1 284 |314]100)120f120

QGAZ00| M36 [M2Z0] MZI7X2 [100]50 |22 122 )1210| 85 |340] 88 | 185 [ 230 [ 180 [270] 370 [180) 3901430 ]125] 160|160

QGE 200  M36  [M20)] MZI7X2 J100] 50 ) 22 | 22 (248 35 (3401 88 | 223 | 230|180 |2701 3701180 3901430 125] 160|160

QGAIZS0| M42X2 M24] M33X2 (100140 26| 26 |232{100]350] 66 | 289 | 280 | 230 |320{400)165)460 | 510160190165

QGBIZ50| M42X2 [M24] M33X2 [100[40 |26 | 26 |252|100)5350] 66 | 289 280 [ 230 (320400 [165]460 510 160|190 165

QGAISZ0] M48X2 IM30] M33x2 |90)50 33|33 |254(1301390] 62 ] 326 | 350 | 290|400 50012001590 | 660 2201230200

QGBIZ20| M48X2 [M30] M33X2 [90|50]35)35|254|130)390) 62| 326 | 350 (290 (400] 500 {2001 5901660]220) 230200

QGA400| MS56x4 |M3s] M4ZXZ |105] 20 391514 44001201 304 (430 | 350 1500] 640 [350 2535

QGE 400 M56x4 [M36] M42X2 [105] 90 391514 44001201 304 430|350 500] 640 350 194




QGA. 0GB A ¥

6T

{r
W

WHFEEAF (LA
_
afr I HAF (Lg ) ] i bF LS A (LB
W AT ) (L M)
Lz
m
n
_—vl—-
.r..:]_—-— —1 88
= I ¢ W
R
w Bl
01—
i b2 £ YA
ALH S S DIDi|F|Fi|F:2] d d LlLlLlelm]lmlaoalsS|E]IR]|V
QGA3Y QGB 32 |20 tof10]20] 10 W10 60 | 40 | 35 22 1517120010013
QGA40 QGBE 40 i
laobi2 14321 IMI2x12s5) g0l s ss 70130035 20)19)24])12]14
QGAS) QGB 50
QGAG3 QGB 63 %
wlsolisl1gl42 s Mmiexts|ioo] 70l 700 8040 43)30)24) 28] 14] 16
QGAS0 QGBE 80
QGAL00 QGB 100 31|30 1618423 Ma0xts|1o0) 7070 9 40) 433027 28] 14] 16
QGAIZS QGB 125|40|40 |20 204618 Mz7x2 |120] 80| 80 |10 50| 54 )36) 32 39] 19] 21
QGALGD QGB 160 |47 45|20 2250 25| M33%2 |120]100] 100 11 60| 68|40 41| 50 25) 27
QGA0 QGB200 | 70|70 | 36| 36| 70| 35 M 36 140 125] 110 160 68| / Js0]67] 70| 35] 40
QGAI?ZS0 QGBISO | 80|80 | 40|40 8040 | mM42x2 150135 135 16} 70| + |70 77| 30| 40] 45
QGAI3I0 QGBI 85 | 55155 102) 55| mM48x2 1350 135 70| 20| 136] 60 1021 51 60
QGA400 QGB400 90 60 {112 60 | MS6%4 150 160 | 70 120 60| 65
QGB450 100] 65165 120] 60 | M64x4 180 190 | 100 120 60| 65

(43 ]




